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1 2R #=— 35 | 40 75 1 74 38 38 05 | 375 | 1115
2 R #= 43 45 88 11 77 41 41 5.5 355 | 1125
3 Al fE—BR | 37 | 43 | 80 5 75 40 40 2.5 375 | 1125
4 =0 FiE 41 44 | 85 11 74 46 46 55 | 405 | 1145
5 ZE F—BER | 40 45 85 9 76 44 44 45 395 | 1155
6 &R EE 38 36 74 1 73 43 43 0.5 425 | 1155
R | BK EE a5 Sea 96 19 17 48 48 9.5 385 | 1155
7 aE XH 38 42 80 6 74 45 45 3 42 116
8 £8 &17 40 45 85 14 71 52 52 7 45 116
9 KE & 37 40 77 +1 78 38 38 +05 | 385 | 1165
10 B E¥F 42 52 94 15 79 46 46 25 385 | 1125
11 =H ZM 40 41 81 0 81 37 37 0 37 118
12 | XK X8 | 43 42 85 6 79 42 42 3 39 118
13 MR B 43 | 45 | 88 11 77 47 47 55 | 415 | 1185
14 3 41 51 92 15 11 50 50 15 425 | 1195
15 Fii %= 46 | 40 | 86 6 80 43 43 3 40 120
16 Iz T 45 43 88 7 81 44 44 3.5 405 | 1215
sE fF 44 45 89 11 78 49 49 55 435 | 1215
g UE 39 | 43 82 4 78 47 47 2 45 123.0
fcB HE 46 | 50 96 16 80 51 51 5 43 123.0
B X=FE 45 47 92 14 78 52 52 7 45 123.0
BEH B 44 | 43 87 9 78 51 51 45 | 465 | 1245
wE =S 43 43 86 10 76 54 54 5 49 125.0
AB & 43 | 49 92 12 80 53 53 6 47 127.0
f8k Eith 42 48 90 9 81
R F 44 49 93 11 82
KE BEE 42 54 96 13 83
iR X 45 57 | 102 | 17 85
A FIBH 44 | 48 92 10 82
A #Z 47 51 98 14 84
R EE 46 52 08 14 84
BT BiC 44 46 90 : 82
W+ B 55 51 106 | 14 92
FiE £ 46 | 46 92 9 83
== ZB 55 52 | 107 | 19 88
hE B 49 48 97 12 85
EX R 55 54 | 109 | 20 89
ik MR 47 46 93 9 84
B BHEE 51 45 96 11 85
ZX FR 50 48 98 12 86
2HE FRiA 47 46 93 8 85
el E& | 47 49 96 10 86
@ B 47 | 48 95 9 86
EH BT 56 56 | 112 [ 20 92
BHE # 48 51 99 11 88
H B2 45 56 | 101 12 89
IO k= 42 | 43 85 1 84
7 R 41 50 91 5 86
=3 B2 46 47 93 6 87
a8® FC 45 50 95 7 88
AP EE 49 53 | 102 | 11 91
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1 BBl ERF|EE | 41 45 86 14 72
2 EF A% 42 46 88 15 73
3 BiE AT 42 | 45 | 87 12 75
4 iz 8ZER 43 47 90 14 76
5 Rk B 46 43 89 12 77
6 SE B— 47 44 91 13 78
7 He E£E 46 44 90 12 78
8 k& BEF 41 46 87 9 78
EIL X 46 | 45 91 12 79
B BAl | 47 46 93 13 80
HE XZF 43 47 90 9 81
ATE RE 49 45 94 12 82
AIE #C 45 52 97 15 82
AL BEi# 52 51 103 | 20 83
WIF & 48 52 | 100 [ 15 85
2E HExE 45 45 90 4 86
=& KX 42 52 94 8 86
H1E IR FX 48 16 64 12 52




